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19 2 Ca/
DCAD (A ~4.5% B 45% -
1 6% 3% 2 4.5%
4% 2 4% 1
(kg/ ) (kg/ ) pH (kg ) (kg/ ) pH
6% 16.8+ 14a 190+ 35a 7.37+x 0.03a 45% 199+ 16 256 21 7.35% 0.02a
3% 188+ 13b 227+ 1.7b 7.41+ 0.03ab 211+ 17 275+ 35 7.40%+ 0.02b
189+ 16b 219+ 34ab 7.43%+ 0.04b n=6, + ,ab: (P<0.05)
n=9, + ,ab: (P<0.05)
3
DCAD  ____Car5_ _60mgd Cbomgdl
(mEg/ kg)
32 +13 2/18(25%) 1/8(13%) 0/8(0%)  0/8(0%)
+158 +180  3/9(33%) 5/9(56%) 0/9(0%)  0/9(0%)
4
DCAD  ____Car5__60mgd Ce6omgd
(mEg/ kg)
+139  +144  1A(25%) L1A(25%) 0/4(0%)  0/4(0%)
+264 +284  0/4(0%)  0/4(0%) 2/4(50%)  2/4(50%)
5
DCAD
(mEy  kg) C D
29 +17 1/28(4%)
+137  +145 12/75( 16%)
DCAD  +200mEg/ kg
pH
Ca Ca



